Congratulations on your Guide Gear® purchase.
Enjoy your new Guide Gear® item with confidence, knowing it has been

designed and built to deliver dependable quality and performance
at an exceptional value.

Item #707899 Guide Gear® Car-Go-Cart

For assistance with your product, please contact Sportsman’s Guide customer
service at 1-800-888-3006 Mon.-Fri. 7:00am to 9:00pm, Sat.-Sun. 8:00am to 8:00pm
CST or go to sportsmansguide.com/customerservice/contactus

SPORTSMAN'’S
GUIDE

sportsmansguide.com 707899 - GG Car-Go Cart 10f8



Read and understand all warnings, cautions, assembly, installation and use instructions prior to assembling,

installing or using this product. Failure to follow all warnings, cautions and instructions may result in serious

injury or damage to personal property.

This owner’s manual and any labels on the product provide important use and safety information. DO NOT remove
or obscure the safety warning labels on any of your products.
Please retain this manual and preserve all product labels for future reference.

EEEEEEEEE SAFETY WARNINGSHEEEEEEEEE

A WARNING: This package contains small parts and is a choking hazard, keep away from children and pets.

Confirm all parts are present before assembly. If any part is missing, cracked or damaged, please contact
Sportsman’s Guide customer service before assembly.

NEVER exceed the distributed load capacity of 300 pounds (135 kg) as cart and 500 pounds (226 kg) as carrier
with 2 in receiver.

NEVER exceed maximum tongue weight recommended by the manufacturer of the vehicle the carrier is to be
installed on (total weight of the carrier plus cargo).

Be aware of dynamic loading! Sudden load movement may briefly create excess load causing product failure.
ALWAYS insure weight is evenly distributed and cargo is completely secured to the carrier and will not shift
during transport. Bungee cords or other elastic cords are NOT recommended for securing loads because they
stretch and/or snap allowing loads to come loose.

NEVER attempt to modify this product or subject it to an installation or use for which it was not designed. Doing
so may result in damage and/or serious injury.

NEVER attempt to assemble, install, load or unload the carrier while you are tired or under the influence of
drugs or alcohol.

NEVER use to transport people, animals or flammable liquids or gases.

NEVER carry loads wider or deeper than the carrier.

NEVER carry flammable items on the carrier.

NEVER allow exhaust fumes to blow directly on cargo or straps secured to the carrier. This is fire hazard and
could also lead to cargo coming loose.

NEVER allow other persons to assemble, install or use this product until they have read this manual and have
developed a thorough understanding of how the product works.

ALWAYS follow all federal, state & local department of transportation regulations governing installation and use.
ALWAYS reduce your speed as your vehicle will handle differently when the carrier is in use.

Not intended for use by children. Do not leave children unattended near product.

ALWAYS thoroughly inspect your product for loose parts and/or signs of damage prior to each use, installation
or removal. NEVER use until any loose parts have been properly secured or damaged parts have been properly
replaced.

ALWAYS keep children and bystanders away while assembling, installing, loading/unloading the carrier.
ALWAYS keep all hardware and moving parts well lubricated.

AWALYS store product in a clear, dry place, away from extremes for temperature, solvents, chemicals or other
materials that could cause damage to any of the components of this product.

ALWAYS use good judgment and practice general safety measures and precautions:

FREQUENTLY check your cargo to make sure it is secure. Cargo can shift or the carrier may loosen during travel.
Readjust as necessary and if it persists, stop use.

ALWAYS remove all cargo before removing carrier from the vehicle.

NEVER obscure vehicle taillights with cargo on the carrier.

ALWAYS check before transit that all parts of the car-go-cart are folded and secured.

ALWAYS wear appropriate safety gear such as ANSl-approved safety goggles and heavy-duty work gloves when
assembling, installing, loading, unloading or removing/storing the product.

ALWAYS keep extremities/loose clothing away from the wheels to prevent injury when in use.

ALWAYS use on flat and level surfaces capable of supporting the maximum load. Pulling or pushing a load on a
slanted or uneven surface can result in loss of control.

The warnings, cautions, and instructions in this manual cannot cover all possible conditions or situations that
could occur. Exercise common sense and caution when using this product. Always be aware of the environment
and ensure that the product is used in a safe and responsible manner.

sportsmansguide.com 707899 - GG Car-Go Cart 20f8



Diagram & Parts List

Part# Description Q'ty Part# Description Q'ty
1 Left carrier frame 1 9 The bent pin 2
2 Right carrier frame 1 10 M6 washer 2
3 U-tube handle 1 11 Hand wheel 2
4 Connecting swivel tube 2 12 The long bent pin 1
5 M8*35 outer hexagon bolt 4 13 Protective sleeve 2
6 M8 Lock nut 4 14 Solid roller 2
7 Square pin 2 15 M3.8 split pin 1
8 The bottom welding assembly 1
3

sportsmansguide.com

707899 - GG Car-Go Cart

30of8




ASSEMBLY INSTRUCTIONS AND REQUIRED TOOLS




ing joint pipe by (5) M8%*35 outer hexagon




5. Install the assembled carrier frame of Step4 on the bottom welding assembly (8). Align the hole on the center.
Insert the bent pin (9) down into the axle sleeve, through (10) M6 washer (2pcs) in sequence, compress the bottom of

the carrier frame as shown, screw the hand wheel (11) (2pcs). See FIG 5.

Loosened state

FIG: 5

6. Pass through the long bend pin (12) to solid roller (14) (2Pcs) and protective sleeve (13) (2Pcs) as shown and insert it
into any hole of the bottom carrier frame. Insert and fix M3.8 split pin (15) on the other end after passing through the

square pipe. See FIG 6.

sportsmansguide.com 707899 - GG Car-Go Cart 6 0of 8



7. The following steps are from carrier to the trolley. Loosen the bent pin, clamp the hand wheel, rotate bending pin to
90 degrees as loosen state, pull the square of the fixed the square pin (2 PCS), turn up the right carrier frame, the U-
tube handle stretched out automatically from the left carrier frame, and adjust the U- tube handle after spinning in
place, insert and fix the square pin (2pcs) , pull out the long bent pin, then move out the carrier frame until see the
square tube in the middle of the frame. Connect two solid rollers (2pcs) with long bar bent pins, fix with M3.8 Split pin
on the other end, and move the frame again until the wheel hits the ground. See FIG 7.

sportsmansguide.com 707899 - GG Car-Go Cart 7of 8



8. Below are the working Sketch. See FIG 8.

FIG: 8

of 8

707899 - GG Car-Go Cart

sportsmansguide.com



	INTENDED USE



